Notes:  2.2
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-3 + -4 = (-1)(3 + 4) = (-1)(7) = -7Same Signs Sum

-3 – 4 =  (-1)(3 + 4) = (-1)(7) = -7
4 – 3 = 1
4 + -3 = 1Different Signs Take the Difference and Keep the Sign of the Bigger Number

-3 + 4 = 4 – 3 = 1
3 + -4 = (-1)(4 – 3) = (-1)(1) = -1
-4 + 3 = (-1)(4 – 3) = (-1)(1) = -1
3 – 4 =  (-1)(4 – 3) = (-1)(1) = -1
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Closure Property:  A set of numbers is closed under addition if the sum of any two whole numbers in the set is also a number in the set.
Example 1:  The set of whole numbers is closed under addition because the sum of any two whole numbers is a whole number.
The identity property states that the sum of a number a and 0 is a.  The number 0 is the additive identity.  The inverse property states that the sum of a number a and its opposite is 0.  The opposite of a is also called the additive inverse of a.
Example 2:  What property is this?  
1. [bookmark: _GoBack]a + (b + c) = (a + b) + c
Associative
2. 9 + 0 = 9
Identity
3.  8 + (-8) = 0
Inverse
4. 3 + 5 = 5 + 3
Commutative
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The sum of two positive
integers is always positive. Go 28

The sum of two negative
integers is always negative.

(6) + (2)=-8

If the numbers you are
adding have different signs,
subtract the smaller number
from the larger number, then
determine which number is
larger.

8+(-2)=6

The sign (positive or negative)
of the answer will be the sign
of the larger number.

(-8)+2=-6
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Changing the order off a+b=b+a a*b=b*a
|the number will not
Commutative change the result. Ex:2+3=3+2=5 |Ex:2%3=3%2=6

Changing the grouping | a+(b+c)=(a+b) +da*(b*c)=(a*b) *¢
of the numbers will not

change the result Ex 1+Q+3)=(1+2)|Ex 1*(2%3) = (1*2)
+3=6 *3=6

Zero and one preserves| a+0=0+a=a 1*a=a*l=a

identities under additio

or multiplication Ex2+0=0+2=2 |Ex1%2=2%1=2

respectively.

For cach real number a,| a+ (-2)=0
there exist a unique a*lia
number -aand lafor |Ex 2+(-2)= 0
additive or

multiplicative inverse. Ex 2*%=1

Inverse

Multiplication

Distributive |distributes over
addition.

alb+c)=ab+ac





